
Find each angle. 

A _________    _______________________1)

           B _________    _______________________

           C _________    _______________________

           D _________    _______________________

           E _________    _______________________

           F _________    _______________________

A _________    _______________________2)

           B _________    _______________________

A _________    _______________________3)

           B _________    _______________________

Geometric Proofs

Given: CB || DE4)

             / ECB = 30o

             / CBA = 120o

Prove: CD || BA

Statement | Reason                                                                     .

Given: ∆ABD is Isoceles5)

            ∆BCD is Isoceles

            BC || AD

            AB || DC

Prove  ∆ABD is similar to ∆BDC 

(All have the same angles)

A
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Prove  ∆ABD is similar to ∆BDC 

(All have the same angles)

Statement | Reason                                                                     .

Polygons

A Polygon has 11 Sides. What is the Sum of all the 

interior angles?

6)

A Regular Polygon has an exterior angle of 5o. How 

many sides does it have

7)

Find angle A8)
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